

Cambridge International AS & A Level

PHYSICS**9702/22**

Paper 2 AS Level Structured Questions

October/November 2023

MARK SCHEME

Maximum Mark: 60

Published

This mark scheme is published as an aid to teachers and candidates, to indicate the requirements of the examination. It shows the basis on which Examiners were instructed to award marks. It does not indicate the details of the discussions that took place at an Examiners' meeting before marking began, which would have considered the acceptability of alternative answers.

Mark schemes should be read in conjunction with the question paper and the Principal Examiner Report for Teachers.

Cambridge International will not enter into discussions about these mark schemes.

Cambridge International is publishing the mark schemes for the October/November 2023 series for most Cambridge IGCSE, Cambridge International A and AS Level components, and some Cambridge O Level components.

Question	Answer	Marks
1(a)	only electric current and time underlined	B1
1(b)	initial speed / velocity is zero	B1
	(non-zero magnitude of) acceleration is constant / uniform (and in a straight line)	B1
1(c)(i)	• magnitude of acceleration at $t = 8.0$ s is less than that at $t = 14.0$ s • direction of acceleration at $t = 8.0$ s is opposite to that at $t = 14.0$ s	B1
1(c)(ii)	$a = \text{gradient}$ or $a = (v - u) / t$ or $a = \Delta v / (\Delta)t$	C1
	$a = \text{e.g. } (20 + 10) / 12$ or $(0 + 10) / 4$ or $(20 - 0) / (12 - 4)$	A1
	$a = 2.5 \text{ m s}^{-2}$	
1(c)(iii)	displacement = $[\frac{1}{2} \times (12 - 4) \times 20] - [\frac{1}{2} \times 4 \times 10]$ or displacement = $(-10 \times 12) + (\frac{1}{2} \times 2.5 \times 12^2)$ or displacement = $(20 \times 12) - (\frac{1}{2} \times 2.5 \times 12^2)$ or displacement = $\frac{1}{2} \times (20 - 10) \times 12$	C1
	displacement = 60 m	A1

Question	Answer	Marks
2(a)	$65 = \rho g V$ or $65 = mg$ and $m = \rho V$	C1
	$\rho = 65 / (9.81 \times 7.5)$ $= 0.88 \text{ kg m}^{-3}$	A1
2(b)(i)	acceleration = 9.8 m s^{-2}	A1
2(b)(ii)	air resistance (acting on sphere) increases	B1
	resultant force (on sphere) decreases	B1
	(magnitude of) acceleration decreases	B1
2(c)	$F = ma$ $= 4.0 \times 1.9$ $(= 7.6 \text{ N})$	C1
	resistive force = $(4.0 \times 9.81) - (4.0 \times 1.9)$ $= 32 \text{ N}$	A1

Question	Answer	Marks
3(a)	$E_{(p)} = \frac{1}{2}kx^2$ or $E_{(p)} = \frac{1}{2}Fx$ and $F = kx$	C1
	$0.048 = \frac{1}{2} \times k \times (2.1 \times 10^{-2})^2$ $k = 220 \text{ N m}^{-1}$	A1
3(b)	$E_{(k)} = \frac{1}{2}mv^2$	C1
	$0.048 = \frac{1}{2} \times 7.5 \times 10^{-3} \times v^2$ $v = 3.6 \text{ m s}^{-1}$	A1
3(c)(i)	$(\Delta)E = mg(\Delta)h$	C1
	$0.039 = 7.5 \times 10^{-3} \times 9.81 \times (\Delta)h$ $\Delta h = 0.53 \text{ m}$	A1
3(c)(ii)	$F \times 0.53 = 0.048 - 0.039$	C1
	$F = 0.02 \text{ N}$	A1
3(d)	sketch: curved line from the origin	M1
	curved line has increasing gradient	A1

Question	Answer	Marks
4(a)(i)	component of momentum $= 0.25 \times 3.7 \times \sin 27^\circ$ $= 0.42 \text{ N s}$	C1
4(a)(ii)	$m_{(2)} \times 5.5 \times \sin 44^\circ = 0.42$ or $m_{(2)} \times 5.5 \times \sin 44^\circ = 0.25 \times 3.7 \times \sin 27^\circ$ $m_z = 0.11 \text{ kg}$	A1
4(a)(iii)	magnitudes: equal directions: opposite	B1
4(b)	$4 + 6 = 2 + v$ $v = 8 \text{ m s}^{-1}$	A1

Question	Answer	Marks
5(a)(i)	light intensity has maximum value at 0° , 180° , 360° and zero intensity at 90° , 270°	M1
	'sinusoidally-shaped' curve	A1
5(a)(ii)	$4.2 = 7.6 \cos^2 \theta$	C1
	$\theta = 42^\circ$	A1
5(b)	wave passes (through) an aperture or wave passes (by / through / around) an edge	B1
	wave spreads (into geometrical shadow)	B1
5(c)(i)	$n\lambda = d \sin \theta$	C1
	$d = (3 \times 4.3 \times 10^{-7}) / \sin 68^\circ$ $= 1.4 \times 10^{-6} \text{ m}$	A1
5(c)(ii)	$1.4 \times 10^{-6} \times \sin 68^\circ = 2 \times \lambda$ or $3 \times 4.3 \times 10^{-7} = 2 \times \lambda$	C1
	$\lambda = 6.5 \times 10^{-7} \text{ m}$	A1

Question	Answer	Marks
6(a)	$R = \rho L / A$	C1
	$\rho = 0.92 \times 5.3 \times 10^{-7}$ $= 4.9 \times 10^{-7} \Omega \text{ m}$	A1
6(b)(i)	(current =) $6.4 / 1600 = 4.0 \times 10^{-3} \text{ (A)}$	A1
6(b)(ii)	charge = $4.0 \times 10^{-3} \times 3.2 \times 60$ (= 0.768 C)	C1
	number = $0.768 / 1.6 \times 10^{-19}$ $= 4.8 \times 10^{18}$	A1
6(b)(iii)	$6.4 / E = 1600 / (1400 + 1600)$ or $E = 6.4 + (4.0 \times 10^{-3} \times 1400)$ or $E = 4.0 \times 10^{-3} (1600 + 1400)$	C1
	$E = 12 \text{ V}$	A1
6(b)(iv)	$P = I^2 R$ or $P = VI$ or $P = V^2 / R$	C1
	ratio = $(6.4^2 / 1600) / [(4.0 \times 10^{-3})^2 \times 1400]$ $= 1.1$	A1
6(c)(i)	increase	B1
6(c)(ii)	increase	B1
6(c)(iii)	decrease	B1

Question	Answer	Marks
7(a)	only baryon and nucleon underlined	B1
7(b)	number of α -particles = 6	B1
	number of β^- particles = 4	B1
7(c)	charm antiquark (charge) = $-\frac{2}{3}(e)$	B1
	or $-\frac{2}{3}(e) + q = -1(e)$ (other quark $q = -\frac{1}{3}(e)$ so) down / strange / bottom	
		B1